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a. The average velocity is given from the position update formula:

  

€ 

 r f =
 r i +
 v avgΔt →  v avg =

 r f −
 r i

Δt
=
22.3,26.1,0 m − 0,0,0 m

1s− 0s
= 22.3,26.1,0 m

s . 

 
b. The location of the ball is given by 

  

€ 

 r f =
 r i +
 v avgΔt = 22.3,26.1,0 m + 22.3,26.1,0 m

s ×1s = 44.6,52.2,0 m . 
 
c. Given that the ball is at the actual position of 

  

€ 

 r f = 40.1,38.1,0 m  we have over 
estimated the actual position by quite a bit since the average velocity in part a, is 
probably not constant as the ball moves. 

 


